LABJNDuS triangle lightness T*

T* =L w nc=100,

T*L aganpus =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=146,T* (18)=332,T*,/(90)=517

log[T*/T*,]=0, m,=0,33
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tristimulus value difference

Yoc=L*w - nc=100,
T*LaBINDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
dY=Agn(A1ntAzY)  Ay=0,017, A,=0,0058
Aonpes=L.5, Apn a=1,0, see CIE 230:2019
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Y=L *w - 6 :n=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
YIAY=Y/A on(AntAznY)]
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tristimulus value difference

Yoe=L*w ~ ne=100,

T*Laganpus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AY/dY,=AgnA 11+AanYI/dY,
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T*Laganpus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)
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